i)

gy

)

wll

016 ERerike EREoET:

T e it

h

YN

20164F TH 23
b KR LR R L3t

Al Bk




INFEEF 100m FEOHF A LL—X)

(148]
1[ 5]
2[ 4]
3[ 3]
41 6]
5[ 1]
6[ 7]
71 8]
81 2]

[348]
1[ 4]
21[ 6]
3[ 3]
4[ 5]
5[ 8]
6 7]
71 2]
8[ 1]

[5+8]
1[ 6]
2[ 3]
3[ 1]
4 7]
5[ 8]
[ 2]
[ 4]
[ 5]

(78]
1[ 3]
2[ 6]
3[ 2]
4[ 5]
5[ 1]
6[ 8]
107]
[ 4]

[948]
1[ 2]
2[ 3]
3[ 4]
4[ 5]
5[0 7]
6[ 6]
[ 1]

(

(

(

(

+0.9 m)
64 5 Iy oK 6 (FlY2=7%ER) 14. 00
25 H #E 2 6 (LEV2=7-5ER) 14. 23
65 7T 4 E K6 (EMVa=7-5%R)14.72
68 FU ik BEpH 6 (EMva2=7-%%R)15.52
22 X B FnAy 4 (LEva=7-%%4)16.18
ATF; 1 5 (LbZife#%R)17.03
55 /IR F K4 (Lh e 55K 17. 46
215 4 w4 (ERV2=75E0)17. 69

-0.1 m)
39 &£ H oAy b5 (Lbofr stk 14. 21
67 & K EZ6 ENVa=7-5%R)14. 50
69 i 75 £S5 FENVa2=7-%ER)14.79
4275 N6 (LhZiEe%ER)14.93
45 75 M6 (Lol 5ER)15.00
594 K ME4 (LbZHE-HER)16.79
82w At A4 (AFE-HER)16. 92
52 4 H & A4 (Lboie %K) 17.03

-0.9 m)

A5 B 6 (LRV2=75ER)14. 23
53R 6 (LEV2=7-HER) 15. 23
70 %5 Ak AL 5 (Elv2=75%8) 15, 32
51# M4 (Lhzife5ER)16.93
53 1 FEE 4 (LhZiEe5ER)18. 27
3ME k5 (BLR778ER) RiZ
83 H fEJ 6 (AFR-HER) X5
27 #% M MEHE 6 (VOLVER- i EIR) K15

0.2 m)

SE M ZEA6 (LRV2=7%ER) 14.80
1475 I 5 (FEVa=7558) 14, 81
M I A6 (LhZiEe %ER)15.18
30 8 PA o0 B 4 GRS ER) 15. 53
25 R A 54 (FEV2=7#%8)16. 45
77 8 KT 4 (ENy==7-5%8) 16. 83
170k o5 (LRV2=7 558)17.59
4R AR 4 ENV2=7558) RiG

+1.5 m)

18U M StBE6 (EMv2=7-5%k) 14.29
20 % Ji 4 (EV2=785E8)15.14
63 H A6 ENV2=74%£H)15.35
15 98 H sk 4 (ENv==7-5%8) 15. 90
49 KRR 4 (LHZIEL %ER) 16. 48
19/N5E BH3E5 (LRVa=7555)17. 48
ke H B 5 BEL77-BER) RiG

(28]
1[ 5]
21 4]
3[ 3]
41 6]
5[ 1]
6[ 2]
1017]
8[ 8]

(48]
1[ 4]
21[ 6]
3[ 5]
41 2]
5[ 3]
6[ 8]
707]
8[ 1]

(6+8]
1[ 3]
2[ 5]
3[ 6]
41 4]
5[ 2]
6[ 8]
70 1]
8[ 7]

(8+8]
1[ 5]
21[ 6]
3 3]
41 2]
5[ 8]
6 7]
70 1]
[ 4]

( -1.0 m)

165 1 K6 (Ev2=7-5%k) 14. 30

8 MR 6 (LEY2=7 BER)14. 77
123708 K5 (FEV2=75%8) 15. 56
A3 /NE A KA 6 (LbZIEe-5ER) 16. 00
28 [l By Jh HE 4 (VOLVER-#E£I%) 16. 16
ABHHF KFH4 (Lo HER) 16.97
23 1 F] E M4 (LEV2=7-5%R)17.72
56 /N Ak R AE 4 (LbZiEE5ER) 17. 89

( -0.5 m)
6 AT U FR 6 (EBVa=7-5EK) 14. 26
66 7% ¥ AL 6 (ENV2=7-5%R) 14. 60
2l KE6 (LEV2=74%%F) 15.08
32K # E6 (§t/775ER)15.43
139k W E 5 (FRV2=75%8)15. 77
46 5 kF BE=F 5 (LbZi5ER) 15. 82
Bk R B b5 FL/ 77580 17. 41
26 H A EE 4 (LEVa=7-5ER)17.65

( +1.4 m)
37THE By A6 (LbZiie5ER) 13,28
81/ A FIr b5 (ARA-HER13.77
A4 H —E5 (LbIiEL5HER) 14. 68
N E A Bt 6 (HEMERSER) 15,57
15 [ &k 5 (FEVa2=75%%K) 15. 93
16 2 2 RRBES (FEV2=75EK) 16. 08

50Kk #& 226 (LbliL 5ER)16.55
184 #Hib (LBV=2=7-4ER) 16. 96

( +0.9 m)
38FE Rk B 5 (LhZlfL4ER) 14,35
1% @&  FES (LRVa=7558)15.23
0491 &% 6 (LREY227 %) 15.33
T9YC M FEWE 4 (ElV==75%58)15. 44
128 AE 4 ENVa=7518)16.19
248 B [EE 4 (LRY2=7%%18)17.09
54 ¢ A&t 4 (LbZiEk 5ER) 17. 42
MG BES 6 (LhZiEE HER) Ri5



iR B

( +2.2 m)

1[ 6]
2[ 5]
3[ 4]
41 7]
5[ 8]
5[ 3]
1[0 1]
[ 2]

37 & Hf
81 # A
64 =
45 It
2 [k H
39 & ¥
78 Y% H
6 i #f

e (Lhol 5ER)13.07
SO 5 (CRR#-EER)13. 51
w6 (Eva=75%8)13. 84
B 6 (FRV2z78F8)14. 07
HEE 6 (LRY2z7%EE)14.16
JeA b (LhZiit5%ER)14.16
Yo BE 6 (EfIVazT-5FE) 14, 26
ok 6 (LBYa2z7 53E) RIS

FFEHEBEF 100m FEGH2AMLL—X)

[148] (
1[ 5]
2[ 3]
3[ 6]
4[ 8]
5[ 7]
6 1]
10 2]
[ 4]

[3#8] (
1[ 6]
2[ 4]
3[ 3]
4 7]
5[ 8]
[ 1]
[ 2]

[ 5] 100 %=

[548] (
1[ 4]
21[ 6]
3[ 5]
4[ 3]
5[ 7]
6[ 2]
70 8]

(7481 (
1[ 5]
2[ 4]
3[ 3]
4[ 8]
5[ 2]
6 7]
[ 6]

-1.9 m)
51 J7 2% KRR 2 (BEFT-%ER)13.03
S5t )2 B & 3 (LERIR-5ER)13. 45
56 g5 K & F 1 (BEKTA-5ER) 13,76
8% A FE2 (LEFEfT-#ER)14.28
63 &+ M5 1 (LEKTH-5ER)15.19
16 2 1 =4 1 (EREFHR-5ER) 15. 50
50 W IE B 1 (RRATH-%ER) 16. 20
22 & 1 P g 2 (FRRAH-HER) RiG

-0.9 m)
Ae A K Fn 3 (LERmT-5E5) 12. 63
65 #r A B & 2 (RRAT#H-4ER)13.07
3% K—1 (VOLVER-%EE) 13. 69
26 %8 . 3 2 (LEXAT-4HER) 14,97
337 EF B 41 (BERT-%ER)15. 48
7346 A FE 1 (EERTHHER) R
by N B (ERETHER) RiG
e b1 (BRFES-HER) Ri5

+1.7 m)

97HE AR HEE2 (LEAT-HER)12.79

6 A= K2 (LERH-SER)12.94
6/ BEIE 1 (EERT-HER)13. 42
45 i s K BB 2 (REAT-HER)13. 45
155 K 5 E 1 (FERER5ER)13. 74
STHRE L LE 1 (EREF-HER) 14.54
NN 5EE 2 (FEXFP-5ER)15. 61

+2.4 m)
42 (F i (EE3 (LRR-HER)12.48
2575 #E 5n 2 (LEAAT-HER)13.19
2954 BEST 1 (BRAAH-HER)13. 44
40 > iEFI 1 (BRET-HER) 13,51
39 /MK B 1 (LRER-%ER)13.58
30 N K KA1 (FRAAT-HER)14.76
20 5 L oK 3 (BRAAH-HER) RiG

(28]
1[ 5]
21[ 6]
3[ 3]
41 8]
5[ 4]
6 7]
70 1]
8[ 2]

(448]
1[ 4]
2[ 2]
3[ 8]
41 1]
5[ 7]
[ 3]
[ 5]
[ 6]

(6+8]
1[ 4]
21[ 6]
3[ 2]
41 3]
5[ 5]
6 7]
70 8]

(848]
1[ 4]
21[ 6]
3[ 5]
4[ 3]
50 7]
6[ 2]
[ 8]

( 0.1 m)
21 KK ®HE2 (LEXAT-HER)12. 36
19K el 3 (LERAT-5HER) 13.09
87T 1IhA K¥H2 (LREH-HER) 13.48
10 &G 9ls 2 (LREAEHR-5ER)13.78
959 U Ul FF 1 (REARFH-5ER) 13. 98
60 17 2 HLBH 1 (EERTH-HER)14.00
TAMT | =2 1 (BREPR-5ER) 15. 56
18 =AM e 1 (LELEHR-5%K) 15. 70

( +1.8 m)
184 7 K& 3 (LEXATHER)12.72
109 Z& (L Kyl 1 (EEAH-HER) 14, 22
ME B &1 (ERERHER) 14,52
61 5 &1 (LEAFRHER) 14,77
24 B 5 SEHD 2 (LEARF-%ER)15. 88
67 /N G 2 (LEREF-HER) KI5
NWH KKA2 (EREF-HER Ri5F
1754 B3 (LERATHER) Ri5
( +1.3 m)
52 i i AR 2 (LRFEF-HER) 12,63
B9 W A2 (LEAT HER)13.03
11042 | F5 2k 1 (LEAEFR-%HER) 13. 37
1/h78 [ E 2 (VOLVER-%5EE) 13. 49
1028k H E 1 (LEER-%HER)13.50
23 B fE KM 2 (BEXRAT-HER) 14, 42
10380 KA1 (LERER-HER)15. 71

( +1.2 m)
88 IR Hak2 (LEET-HER)12.43
9 M JRU 5L KE 2 (ERFmT-HER) 12. 66
101 5 B B 1 (EREEP-HER)13. 47
14 W 02 (ERFEAH-5ER) 13,53
85 & By oy HE 2 (LEAT-HER) 14.50
31 A & e 1 (RERRT-5ER) 15. 28
104 g oL AF 1 (LEBET-HER) KR35



iR B

( +0.4 m)

1[ 3]
2[ 5]
3[ 4]
41 6]
5[ 2]
6[ 1]

[ 7]

[ 8]

27 KK
88 1 &
42 {3+ jk
52 jxt i
97 &% K
18 &
46 A
9 & I

m 52 (LRARP-HER) 12.17
ik 2 (RRET-HER)12.49
fEfE 3 (RRAT-&ER) 12. 55
JR P 2 (RRAT-5ER) 12. 69
a2 (LR HER)12. 84
KA 3 (EERAT-HER) 12. 95
K3 (LERMT-HER) Ri5

gk 2 (LRRMT-HER) Ri5

ERBF 100m FTE(AIHHFIALL—XR)

(1#8] (

1[ 5]
2[ 6]
3[ 3]
41 8]
5[ 1]
6[ 2]

[ 7]

[ 4]

(3] (

10 5]
2[ 6]
3[ 3]
41 7]
5[ 8]
6 2]
1[0 1]

[ 4]

(58] (

1[ 5]
2[ 4]
3 6]
41 3]
5[ 2]
6[ 1]
71 8]
8[ 7]

(78] (

1[ 4]
2[ 6]
3[ 5]
41 3]
5[ 8]
6 7]
10 1]

[ 2]

+2.9 m)

M40 g oK 2 (BRUHEHER 11,1
446 e F o1 (BME-HER) 11.54
479 R A 1 (ERFREHER) 11,63
378w H P F 2 (HEHE-wER) 11,84
270 ¥ & MEAR 2 (Mgmm 5w ER) 12. 34
385 EE ERk 1 HENFHER) 12,48
282 M O HhvE 1 (kA R ER) Ri5
320 N A& 3 (e ER) KI5
+1.4 m)

M2KR & B3 GEFRE-HERT11.33
326 8% H HE K 2 (HREE-wER) 11, 46
408 & B 1 GRERE-HER)11.76
265 97 0 77 & 2 (FEdEm- S ER) 1211
399 AR L 2 (BEXEHER) 12,25
404 e TR 1 (RERE-HER) 12,43
266 5 i E K 2 (e 3w ER) 12. 51
396 B E AR 3 (REXRA-HER) RiF

+2.0 m)

402 7k H Al 2 GBEFE-HER)11.29
422 5 sl 2 (A sER) 11,33
N7 F K1 (B EE-HER) 11,91
325 Il 2 B 2 (EfimE- 5 ER) 12,05
380 BB I 1 (HEdE-HER) 12,22
439 1 1 (BhE-HmER)12.32
335 ME [ g g 1 (ifRE- s ER) 12,45
3812275 ALk 1 (FERRE-HER 1341
-0.2 m)

4207 M 4RO 2 (ks s ER) 1497
M F K1 (BME-HwER)11.63
461 RAT AZE 1 (Frivfra-5ER) 11. 84
278 FH IR oIk 1 (kA % ER) 12,00
268 [LAHH KRS 2 (FsEmm - ER) 12, 1
484 Rt 1 (WTAE-EER) 12,56
329 i H R U 1 (iR - s ERD) 13. 20
465 A £ K Hh 3 (AR -HER) KR35

(28]
1[0 4]
21[ 6]
3[ 3]
41 8]
5[ 2]
6 1]
70 5]
[ 7]

(448]
1[ 4]
2[ 5]
3[ 3]
47 6]
5[ 7]
6 8]
10 1]
8[ 2]

(648]
1[ 4]
2[ 2]
3[ 5]
41 3]
5[ 1]
6 8]
10 7]
[ 6]

(848]
1[ 5]
21 6]
3[ 3]
41 4]
5[ 2]
6[ 8]
70 7]
[ 1]

( -0.7 m)

308 B8 1 KOHE 3 (AR ER) 11.09
AT5 B AT BB 3 (ERThRE-HER) 11,70
310/ H k2 (BAXHR#ER)12.01
355 i O HE 2 (RROEE-HER) 12,40
445 R Bt 1 (BME-HER)12.73
280 & = IE#1 (BeEEE- R ER) 12,83
429 % KuE 1 (GEkiixs-%5ER) 18. 00
406 3T i FIAL 1 (RERE-WER) KRG
( +1.0 m)

318 Tk Heth 1 (ARSEA-HER)11.75
364 AT HE Ak 2 (HRER-wER) 11,89
442 /N MR 1 (B -5 ER) 12,00
S1IHF A 1 Z= 2 (BRUER-HER) 12,03

280 A 1 —H 1 (fRegmm % ER) 12. 69
263 /8 By 1 (WeEms-HER) 1281
405 /i kg 1 (BEXRE-RER) 12,90
431 1B 1 ACE 1 (A -HER) 13. 62
( +0. 1 m)

477 e pE R E 2 (ERYRE-HER) 11, 41

346 /7 E 2 (REE-HER)11.84
290 WE pr ME R 1 (ERAE-TER) 11. 87
3427 11 AR 1 (B ER) 12,18
M AR K 2 (Bl -5 ER) 12, 38
297 % iy & 1 (EffAE-TER) 12,69

M3 gk EE 1 (LE-5HER)13.06

291 4% K — 1 (HfemE TER Ri5

( +1.1 m)

3764 1 A2 WEER-HER)11.78
MAH N sz K1 (BWE-HER) 11,99
3194k M A1 (ERUER-5ER) 12,15
3779 #R2 (MElE-HER) 12,21
M3 Er R R 1 (BE-HER) 12,32

407 /) 2R B 1 RERE-HER)12.74
331/ K1 (- JER) 14. 83
Ri5



[948] (
1[ 4]
2[ 5]
3[ 3]
4[ 6]
5[ 2]
6 7]
[ 8]

[1148] (
1[ 6]
21[ 3]
3[ 5]
4[ 8]
5[ 4]
6 7]
70 2]

+2.3 m)

398 &5 K Fk A 3 (BEXFE-HEER) 11,52
400 2 & 2 BEXE-HER)11.62
97 e &% IG5 3 BEXE-HER)11.97
MI K% kK2 REm-#HER12.13
281 /R AR RR 1 (BRiem M- ER) 12. 21
365 A &= B2 (HREE-HER)13.37
382/ JR B 1 (FEEEEER Ri5
-0.6 m)

84PN HrkE 3 (HEEEHER 11,63
403 /M EHE BB 2 (RERE-AER) 11,79
361 /E H W1 (RRELREHEH 12,10
383FHF I H AN 3 (FEEFHER12.12
4341 A 1 CERERE- R ER) 12, 21
279 =A% KOBE 1 (B m - ER) 12. 31
3SIVF & B 1 (HERAHER)12.76

iR Bg: (248)

(148] (
1[ 3]
2[ 1]
3[ 8]
41 4]
5[ 6]
6 5]
70 2]
8 7]

=
5>

O O Gl WwihN —

0.2 m)

326 8% - HEOK 2 (ffReE-ER) 11,55
409 /AR N T GREXRFE-HER) 11,58
479 Hkr 1 (ERFRESER) 11, 61
446 Fria FF 1 (BME-HER) 11,63
400 2 & a2 (REXE-RER)T11.69
398 &5 AR @k AN 3 (ERE-EER) 1171
384 M0 T HraE 3 (HIEmE-HER) 11,72
M F K1 (EME-HER)11.82

op

308 B 1 R 3 (MEOUER-HER) 10. 84 (+2. 4)
420 W $ROE 2 (ERERA-HE5R) 10,92 (+2. 4)
141l WK 2 (BRICGER-AER) 11,08 (+2. 4)
M2k o B3 GEEEHER11.18(+2.4)
428 h By EE 1 (ERERA-HER) 11,23 (+2. 4)
477 ek i B 2 (ERFERR-HER) 11.31(+2.4)
4027k J A2 GEERE-HER)11.31(+2.4)
326 MK 2 (ifm -5 ER) 11,55 (+0. 2)

(1048] (

1[ 3]
2[ 5]
3[ 7]
4[ 2]
5[ 4]
6[ 8]

[ 6]

(248]
1[ 3]
21[ 4]
3[ 5]
41 8]
5[0 1]
6 2]
71 6]
[ 7]

+0.6 m)

428 1 e 1 GEkiixs-5ER) 1. 34
409 /AR N1 GRERE-HER) 11,63
362 4 Jm AR N 1 CGRRERRE-HER) 12. 02
3224y Fn g2 (iifiis-swER) 12,08
360 4 FE¥AE 1 (RRBLEEHER) 12. 40
306 K AF R 1 (ENGR TER) 13.53
401 BAIE 1 & 2 (REXE-wER) KI5

( +2.4 m)

308 B O KOEE 3 (BRuiem-%ER)10. 84
420 B 6 2 (ks -5ER) 10. 92
314101 ok 2 (EBRUER-HER) 11,08

M2k o B3 GEEE-HER 11,18
428 #h M By e 1 CEsfiks-#ER) 11,23
ATT e w2 (ERFRR-HER) 11,31

4027k Jf A2 GBEREHER) 11,31
422 & 4y 5L 2 (RS 515 Ri5

—iZBEF 100m FTEAMERX A LL—XR)

(1#8] (. +1.6 m)
1[0 5] 212 A4)13r i 2 (HRK-JEER)10. 92
20 4] 14580 &Rk 2 GLR-HER)11.16
3[ 1] 235 M &k A 2 GRiER- BEUR) 11,49
40 8] 1129 %  [E2 (RRFA-HER)11.54
5[ 2] 161 & A X4 (MEFKHER) 11.65
60 7] 17564 I F CUxER "x#) 12. 57
[ 3] 223 KPR HZR54 4 ORFER-HHIR) Ri5
[ 6] 97TH#ex RFHIR3 (RAK-HHR) Ri5

(28]
1[ 3]
21[ 6]
3[ 5]
41 4]
5[ 7]
6 1]
71 2]
[ 8]

( +2.0 m)
234 BE K 2 G K- #ESR) 10,75
207 gk seE 3 (HRK-F4K) 11.05
1D 2058 2 (RRRFE-HER) 11,12
9K E FH K4 (EERAHER) 11,29
163 B4 k4 (HEFKHER) 11,66
202 & = A (K- ER) 11,69
1280 H FEER 1 GEEOHER11.79
251 75 1L FE 1 O K- R R) KI5



[3#8]
1[ 3]
2[ 4]
3[ 1]
41 6]
5[ 5]
6[ 8]
[ 2]
[ 7]

(5481
1[ 3]
21 5]
3[ 1]
41 7]
5[ 6]
6[ 2]
70 8]
[ 4]

(78]
1[ 6]
21[ 4]
3[ 5]
4[ 3]
5[ 8]
6[ 2]
107]
[ 1]

[948]
10 3]
2[ 4]
3[ 6]
41 1]
5[ 2]
6[ 8]
710 17]
[ 5]

( +0.9 m)

23158 K 2 — 2 Gl R-5 1) 10. 98
1074 A& #% 3 (RKRF-&HER) 11,01
222 Nk HE= 4 AR TER)11.09
194 H K& 2 EFRAHER11.25
154 X% # &2 GrR-HER)11.33
121 8 N ks %5ER) 13,04
236 E H fH & 2 GRlER THR) K&
140 FE A B R 2 CRER- AR KI5
( +1.9 m)

58 4 % hth 4 CRER-#E)10.85
23T 5 552 (K- K50 11.05
250 H HH O fdE O T G7E K- BERGR) 11.09

26 /MR B (WARTC-%ER)11.18
254 ¥ K421 (K- KIRF) 11. 23
109&53%1(% 4 (RKIF-pEAKR) 11,38
172 /& b 33 (MEFK-HER) 11,70

57 ’ﬂiﬁfﬁﬁﬁ 3 BRI Ri5

( +1.3 m)

114 1% i HE 3 (BXIF-RER) 10. 92

143 /4K fF—  (NTN- =E ) 11. 03

232 /B A 2 (K- FAR) 11,04
TEEX B4 GEEXHER)11.31
66 /N ST 3 (BR-FER) 11,44
A M 2 R JemR) 11,50
0N BE EHA 1 (BEERKSER)12. 74

249 FI) PRAE 1 ORER- (10 R) Ri5

( -1.2 m)

233w il AR E 2 (AR FIR) 11,07
210 gk — th 3 (BRK-#&)I1E) 11. 08
242 # g AR 5L 1 (BAR-HER) 11,42
123 fu i & 2 (BEK-HER)11.57
156 H 1 &1 GZK-HEI)11.58
28 1A HECE RRTC-®ER)11.73
178 ‘= 5 B3 (CLHK-HER)12. 27
228 N B % 3 GREK- KR Ri5

[11#) (  +0.1 m)

11 4]
2[ 1]
3L 6]
41 7]
5[ 5]
6[ 3]
70 8]
8[ 2]

204 T 3 A 2 (ERK-FA&R 11,02
226 #in K g 3 ORPER- BHUR) 11,08
60 & A R 2 ORER-HER)11.17
239 5 W HEF 2 Ok R ) 11. 23
105/ H 1E K 3 CRIR-HER)11.40
162 3 ik 55 & 4 (MEERHER) 11,57

1% A V% (LRS- ER) 11,97
19 BR)INIER  GiERER-5HER)13.76

[448]
1[ 6]
21[ 4]
3[ 3]
41 1]
5[ 8]
6 7]
[ 2]
[ 5]

[648]
1[ 4]
2[ 5]
3[ 3]
47 7]
5[ 1]
[ 2]
[ 6]
[ 8]

(8+8]
1[0 4]
2[ 5]
3[ 8]
41 6]
5[ 3]
6[ 2]
1017]
[ 1]

(1048] (

1[ 6]
2[ 3]
31[ 8]
41 7]
[ 1]
[ 2]
[ 4]
[ 5]

( +1.6 m)

59 & 4% 5 3 (BFEKR-EiRIE) 10. 85
1025 )il B= A3 (KEA- K2R 11.29
144 /K & 3 (L R-HEIR)11.36
227 Ve 28k 3 G R-HER) 11,60
126 1% H 1B 8 4 CERER-#ER) 11. 88
124 /33 M= (RAmER-sER) 12,21
253 B By N E 1 (K- FER) Ri5
10851 K 4r 3 (RKR-#%HER) K5
( +0.2 m)

62 7% © st 2 CRPER-#IR) 10. 74
225 R FF fF B3 (K- EHE) 10. 85
89 J& H A (hERER-wER) 10.92
1535 Al K2 GrR-#HER)11.18
694 H 1 (FR-#HER)11.33
20 1 B PEK (WEST-HEIR) Ri5
230 3 FH & 5L 3 (Wil K-HER) Ri5
197 By 6 CHE Ik 1 (BFRA-HER) KR35

( +1.0 m)
61T K6 FEEKHER)10.74
229 g5 A FEE 3 (WA K-RESR) 10,92
213 548 9L 2 (EEK- M) 11. 25
20 /NIARFRR (R hAamgRR) 11,27
67 ik ¥ 4 BFR-EER)11.40
241 A B MG 1 (PR R 1. 47
196 /hRE Bath 1 CEFBK-%HER) 11,67
262 B HE 1 OWMBRHER) Ri5

-1.5 m)
146 KB # & 1 GLK-H A 11.18
157 [ B Ey 3 (LR I%) 11.58
142 /| #t GREREG-HER 11,95
177701 K (BE777-558)12. 21
1255 1 w12 (CRERER TER &5
21 A v 2 (TREERKSER Ri5
216 Ly < H 4 (B 8 IR) KI5
243 THNEL R B 1 (K- REFIR) Ri5

(1248 (  -2.1 m)

1[ 5]
2[ 3]
3[ 4]
41 6]
5[ 8]
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